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HYPERBOLIC FUNCTIONS

Problems

1. If cosh  , then cothx =2x = 199

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_SfpkuadC3Rnh


A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution
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2. If 

then x =

2 sinh− 1( ) = log( )
a

√1 − a2

1 + x

1 − x

https://dl.doubtnut.com/l/_SfpkuadC3Rnh
https://dl.doubtnut.com/l/_oh7JXw6tQ52P


A. a

B. 

C. 

D. 

Answer: a

View Text Solution

1

a

√1 − a2

1

√1 − a2

3. 

A. 

sech− 1( ) − cosech− 1( ) =
1

2

3

4

loge(3(2 + √3))

https://dl.doubtnut.com/l/_oh7JXw6tQ52P
https://dl.doubtnut.com/l/_e60pN1HRM33J


B. 

C. 

D. 

Answer: c

Watch Video Solution

loge( )
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3

loge( )
2 + √3

3

loge( )
2 − √3
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4.  is equal to

A. 

tanh− 1( ) + coth− 1(2)
1

2

log 3
1

2

https://dl.doubtnut.com/l/_e60pN1HRM33J
https://dl.doubtnut.com/l/_lE5763emrpzd


B. 

C. 

D. 

Answer: d

View Text Solution

log 6
1

2

log 12
1
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log 3

5.  is equal to

A. 

B. 

x = log( + √1 + ) ⇒ y
1

y

1

y2

tanh x

coth x

https://dl.doubtnut.com/l/_lE5763emrpzd
https://dl.doubtnut.com/l/_FgrrdQmZIsOP


C. 

D. 

Answer: d

View Text Solution

sech x

cosechx

6. For  is equal to

A. 

B. 

C. 

0 < x < π, sin h − 1(cot x)

log(cot. )
x

2

log(tan. )
x

2

log(1 + cot x)

https://dl.doubtnut.com/l/_FgrrdQmZIsOP
https://dl.doubtnut.com/l/_G3As4bCEu6G9


D. 

Answer: a

View Text Solution

log(1 + tan x)

7. If 

then is a equal to

A. 1

B. 2

C. 

tanh− 1 x = a log( ), |x| < 1,
1 + x

1 − x

1

2

https://dl.doubtnut.com/l/_G3As4bCEu6G9
https://dl.doubtnut.com/l/_HbMLnwJ9N5NY


D. 

Answer: c

View Text Solution

1

4

8.  is equal

to

A. 

B. 

C. 

sinh− 1 2 + sinh− 1 3 = x ⇒ coshx

(3√5 + 2√10)
1

2

(3√5 − 2√10)
1

2

(12 + 2√50)
1

2

https://dl.doubtnut.com/l/_HbMLnwJ9N5NY
https://dl.doubtnut.com/l/_dvqXV3xgM0Ds


D. 

Answer: c

View Text Solution

(12 − 2√50)
1

2

9.  is equal to

A. 

B. 

C. 

D. 

1 + tanh. x

2

1 − tanh. x

2

e − x

ex

2e
x

2

2e − x

2

https://dl.doubtnut.com/l/_dvqXV3xgM0Ds
https://dl.doubtnut.com/l/_jj8JFpdwB6Kt


Answer: b

View Text Solution

10.  is equal to

A. 

B. 

C. 

D. 

Answer: d

sech− 1(sin θ)

log tan.
θ

2

log sin.
θ

2

log cos.
θ

2

log cot.
θ

2

https://dl.doubtnut.com/l/_jj8JFpdwB6Kt
https://dl.doubtnut.com/l/_RTisnoP9uCXV


View Text Solution

11.  is equal to

A. 

B. 

C. 

D. 

Answer: c

View Text Solution

e
log( cosh − 1 ( 2 ) )

log(2 − √3)

log(√3 − 2)

log(2 + √3)

log(2 + √5)

https://dl.doubtnut.com/l/_RTisnoP9uCXV
https://dl.doubtnut.com/l/_7YFpjXS3Nm7s


12.  is equal to

A. 0

B. 

C. 

D. 

Answer: c

View Text Solution

2 tanh− 1( )
1

2

log 2

log 3

log 4

https://dl.doubtnut.com/l/_7YFpjXS3Nm7s
https://dl.doubtnut.com/l/_klV7GACBE8Hw


13. If  then the value of

sinhx is

A. 

B. 

C. 

D. 

Answer: b

View Text Solution

x = log[cot( + θ)]
π

4

tan 2θ

tan 2θ

cot 2θ

−cot 2θ

https://dl.doubtnut.com/l/_W3DCDPfapKc3
https://dl.doubtnut.com/l/_AzHCZyjiwhMQ


14.  is equal to

A. 

B. 

C. 

D. 

Answer: a

View Text Solution

sinh− 1(2 )
3
2

log(3 + √8)

log(3 − √8)

log(2 + √18)

log(√8 + √27)

15.  (ix) is equal tosinh

https://dl.doubtnut.com/l/_AzHCZyjiwhMQ
https://dl.doubtnut.com/l/_PPwOQzj80v3p


A. 

B. 

C. 

D. 

Answer: a

View Text Solution

i sin x

sin ix

− i sin x

i sin ix

16.  is equal to

A. 

sinh− 1( )
x

√1 − x2

cot h − 1x

https://dl.doubtnut.com/l/_PPwOQzj80v3p
https://dl.doubtnut.com/l/_J6dzJ4cmlHv4


B. 

C. 

D. 

Answer: d

Watch Video Solution

sinh− 1 x

−tanh− 1 x

tanh− 1 x

https://dl.doubtnut.com/l/_J6dzJ4cmlHv4

